Arc Lengths and Sector Areas

Arc Length

An arc is part of the circumference. We don't have a
full circle, we only have a fraction of a circle

The circumference of a cirlce = 21T

This is half a cirlce,
so we have half of 21r
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Here we have 100° of the circle:
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A sector is part of the circle (like a slice of pizza) .
We don't have a full circle, we only have a fraction
of a circle

Sector Area

The area of a cirlce = TIr®
This is half a cirlce,
so we have half of Trr®
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Here we have 100° of the circle:

— T X 57 cm




